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Vapour pressure of chloroform (CHCL,)
and dichloromethane {CH,Cly) at 25°C are
200 mmHg and 41.5 mmHg respectively,
WVapour pressure of the solution obtained
© by mixing 25.5 g of CHCl, and 40 g of
CH,Cly it the same temperature will be :
(Molecular mass of CHCl, =119.5 u and
molecular mass of CH,Cl; =85 u)

(1) 2855 mmHg
L[2T73.9 mmHg
(3] 6150 mmHg
()~ 347.9 mmHg

The Gibbs' energy for the decomposition
of AlsGy at 500°C is as follows -

2 4 q
= ALO,——Al+0, . L

“ bt 2 " n
? ; e

_ 8,G=+960 k] mol =1, YT >

The potential difference needed for the
electrolytic reduction of aluminium oxide
(ALY at S00°C is at least -

(1) 50V
(2) 45V
(3) 30V
My 25V

ggery!
(= iy

Lo dﬁrf.
LI
o

Four successive members of the first series
“of the transition metals are listed below.
For which one of them the standard

e

potential [Eu m] value has a positive
Sign ?
1) Fe (Z=26)

(2 Co{f=27
(3 N (Z=18)

4 Tu (2=29)

AR L e T e 1

The infarmation provided here is

-a'w“g,
A&

. BT

1 .
B

25*C . i (CHCL,) 79 Snasimi

(CH,Cl,) % a3 ¥/ 94 200 mmbg 791

415 mmHg ¥ 255 g CHCl, & am

40 g CH,Cl, % Teremy =ty faeram =1 e
=rE IH T 9 R,

{ CHCI, #1 317 91 = 119,5 u 940 CH,Cl, 1
Y WR=85u k)
{1) 2855 mmHg '3 pﬂj
{2} 1739 mmHg 82
(3) 6150 mmHg e %T,fb
(4} 23479 mmHg @
500°C T AlyD, % Tz & ferd fiem il
Fraffaa et & :

Y\
% HE1034%.#!+DE ; g}‘ﬁ) *l@ 'Gugqj &
4,G = +560 k] mol !

mwmﬁﬁﬁmﬂm[@wtm
s F ol favs simsm # wm g

(1) 50V S. . 3
(7] 45V ’Eﬁ’{ "}f'i"

3) 30V ,ﬁ)'xﬁ;

4} 25V
Ty g =t wem A F s A v
R OE T AT A T R )

Frers ferdt W fam [E;nm]mm

TS o e § 7
{1) Fe (Z=128)
(2) Ca(Z=2N
(3} Ni {7 =28)
4) Cu(2=29)

REL RN s |
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4.  Which of the following exhibits only +3
oxidation state 7

{1} Fa

{2 u

(3) Th
af4}—RAc

5. Molar cunductlvities (:’L: )} at infinite
dilution uf\la'-_..i"ﬂ—f...l a,__d_

126.4, 425.9° and 91.0 S ¢ g

m*= mol
respectively. A.m for CHyCOOH will be
LA 3905 S em? mol — 7 ¢ mg

{h—hmnm 4255 5 em? mclkf-ﬂ- [y fEBME

(3) 1805Scmimol~! = 4S8
r -1 P )
{4) 2908 S cm* mol ﬁ__sﬂ__,'i

G B
6.  In which of the following anang’emms
the giver sequence is not strictly according

to the iy indicated against it 7
\/m/g—;w-: 510, < 5n0, < PbO,
. increasing oxidising power.

HF < HCl < HBr < HI :
acidic strength
H,0 <H,5 < H,5¢ < H,Te
increasing pk, values

4} » NHy < PHy < AsH; < SbH, ¢
ircreasing acidic character

increasing

7. Consider the reaction :
RCHO + NH,NH,=+RCH =N - NEi,
What sort of reaction is it 7
L/}-v Mucleophilic addition - alimination

reaction
{2} Electrophilic addition - elimination
4 reaction
(3)  Free radical addition - elimination
reaction

(4} Electrophilic  substitution -

elitmination reaction

| =4
Li}
=

4. i f F1 e+ 3 99 Agen v

T 87
{1y Ta
2 u
(3 Th
41  Ac

5. ¥R WA W, NaCl, HCl 381 CH,COONa

W1 TR AEEA (AL, ) FET: 1264, 4259
A4 91.0 S em? mel =1 §, CH,COOH #1

"“.rrt ﬁ"'ﬁ J

(1) 39055 cm? mol™!

{2} 42555 cm® mol™! .t
{3} 18055 em? mol—! =

(4} 29085 em? mal !

6. frefeiEs =ewns o 5 fam o v §oa

fred =7 am fafima pod & sgew

272

(1) COy < 5i0, < Sn0, < PhO, &gT
ST Je

(2) HF < HCl < HBr < HI : 750 o=
EREEe] ¢

{(3) Hy0 <H,S < H,ySe < HyTe: 7@ pK,
ic] o

(4) NH, < PHy < AsH, < SbH, : 98
et el Tt "

7. = wifiafem o7 fraw it

RCHO + NH,NH,—»RCH = N - NH,

o% e vn =t sifvfwEa £

1y =fvsed deem-fa sfufen
(2) TEEEET deee-fam i
(3 W e deea fasee wafufEm
(4) PN i fasies arfufEm

'

X v iy | . ! s,

X / m——r H-J-W_W;I "
.} x

It may wvary Original®
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An AAR 3
h# i
M ‘;‘:F" 5 B

8. . During change of Oy to OF ion, the | 8. 0,31 Q] 301 ity 13 wwg Preefirfor
.electron adds on which one of the aﬁgﬁﬁﬁmﬁ;ﬁmmi?

following orbitals ?

(1)« orbital H e

L2) = orbital (2) w* afefen
(3) = orbital (3) 1+ onfiem
(4} o™ orbital 4) o wfeem

9, Standsrd reduction potentials of the half | 9. a4 =fafirm % w9 sr=am fave A fan
- reactions are given below : i

Fag#2€722F" 00 EP= +285

y Fopy + 28" 2F~ ¢ Ef=42EB5V
Clyyyy + 20~ -32C1~ Eve 4 135 V an s

- g ! Uy #2720~ 5 B¥= 4138V
Brog, +2e ™ —2Br mg s EP=+106V By + 22~ —2Br~ jagy + E"=+106V
Lig+2e7 2070 EP= 4053V g +2e” 20700 E°=+4053V

The strongest axidising and reducing

: VA IEAEFE A4 AT we:
' agents.respectively are

‘M) Clyandl, (1) Clya [,
’F::mdl' () Fyauri-
(31 Brpand O] : (3 Br, 81 I~
{4} O, and Br- (4) Clam By~ G

10, The catalytic activity of transiticn metals W0, Hawm e it T Hrwl 51 s oiwmm

- and their compounds is ascribed mainly

o I T T

(1) their chemical reactivity 1) TS TR Hfufrareteam
(2} their magnetic behaviour (2) T Y= HEEn

(3] their unfilled d - orbitals (3 7 a4 -

4% their ability to adopt variable (4}  TEEt ufiadrets Toene argomsl o
. oxidation states

. #1 = T B

. 1. Equal volumes of two monoatomic Bases,
- A and B, at same temperature and pressure | 11 = Srfi 4, A ke % J

are mixed. The ratio of 5pec'F|L hr_att. A g e a8 fasw -
[Cp.rf_:l ]é;f the muxture will be ,}(ﬁr‘[ HTHERR T [CFJ"":.,.J & ST .
- 1“ . (1) 167
{7} 0.83 5 0 . J Ji (7} 0.83
@3 150 T };1 = (3} 150
4y 33 (3.3

Bl o T L B I

g
g : I-. . . . r IF-|

[MOTE: The information provided here is for Beference. It mayhTary Jr_:ll",fgah.-J
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12.  Given that the equilibrium constant for the
reaction
2502(5‘# +0y =2 SOW]

has a value of 278 at a particular
temperature.  What i= the valie of the
eguilibraum constant for e Bollowing
yeaction at the same temperature 7

L 1
SOsgy =50y + 12 Qz:a]
(1) 13x10-%

g

(2) 18x10°2 1::?
A 3ex1077
(4) 601072

13.  Which one of the following sets forms the
biodegradable polymer ¥

()~ cH=CH, and

CH, = CH~CH = CH,

(2 CHy=CH-CN and
CH3=CH=-CH=CH,

{3)=- H;N - CH, - COOH and
H,N - (CH,); ~ COOH

(4) HO-CH,-CH,-OH and

HOOC ~ {C)-COoH

14, In the replacement reaction
SCl+ MF— = CF + MI

The reaction will e most favourable if M

happens to be :
(1} L
pr} Ma
3 K
4 Rb

12,

13.

14.

WWW. qF::u_tmnnt guru

gl
(}h‘k e 1 LLAR W
Yoot 24 "l“ ;
fﬁ'-lﬂb I_é-""(‘__'i"'
T fgvm A,

250 + Oy = 250y, ¥ o A1 e

w1 9E 7R fomomer #0 3 oAam w e
R |
Bl oy 3 Sy y:3 Dage

¥ Fay o fonjs s 9 8

(17 1.3x10-F :

(7)) 18=10-3 kT
3 36xi0-d &

{4 A0=In-?

fren 11 6 & i T e SEfrermin A
EEiG

(1) ()~ cr=CH, ot
CH,=CH-CH=CH,

(2} CHy=CH-CN 3
CH,=CH ~CHuaCH,

(1)  H,N-CH,- COOH 3k
HyN — (CHa)s — COOH |

{4) HO-CH,-CH,—0OH 3t

HOOC - @-CDDH

gierers sfalma
=Cl+MF—+=2CF+ Ml _
o, arfufw s = O afe M e
#:

(1) Li
(2} Na
(2 K
(4)  Rb

he iriformation provided Rere id for Reference.

It may

1k e L LT

vary Original
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[MOTE :

= (2) Ti<V<{repin: increasing number
cof oxidation states
LN
i31— < Yt E" L by H o
ImcTeasing magnetic mamenf L
& i s
{£) TieV<Cremn sincreasing melting
pis7 W) werd
'ﬂ_'!__l-ﬁulﬂ'llq‘"']' - - b « mhy

WWwW.recru

15, Activation energy (I} and rate constants

(k; and k) of a chemical reaction at two
different temperatures Ty and Ty) are

itment.guru

15. 2 fafim am, 1, a9 T, W o afifEw ot

related by : pu 1%
we P .
- k4
k 1 W
=2 -E (1.1
{1} In ki R [T, TE]
oo B(1 1
L,E]”Jﬂ%:_ R [T1 Tz]
W i E [1 i]
e RS Qi (e
&} In ky RITz; T
ks E 1 ]
. . N ppr i
@ In g, R [12 T]J
e ﬁ:_Eu Irr]hE Prﬂﬂl_. -
fnHe = A~ ';F[l“:h [
s

16, Which one of the following does not
correctly represent the correct order of the

property indicated against i1 7

“J. Ti=V < Mne<Cr

ionization en thalpy

L mcreasing 20

-

“ﬁ“‘“‘ﬁﬁtﬁ,}mﬂﬁwﬁm]mkﬂ}
TH TN weaiam
R_ER[L_2
“:l In ]-‘.1 a T{i [T]_ Tz]
k E, [ 1 1
_2' —_— —
2} In klm——ﬁi[,rl TZJ
M. Bfl.t
o nie % (-2
kB (1,1
" ln'“lr_'ﬁa[‘fi‘*ﬁ]
_%% )
% )
K, = -Eu —bury
TP ERL Y
= '--u' & .
16. ﬁ'ﬁéﬁaﬁ'ﬁamm%ﬁmm%
F % vy At 6 § 7
(1) Ti<V<Mn<Cr: g fafa amam
LE i
(2} =[-;{\,f{Cf<Mn;mm
B) TP < V3 < CP* < Mrd+ - wem

e T

)

The information provided hers

Fi< W 2 O 2 M SRR e




17.

18.
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Red precipitate is obtained when ethane|
solution of dimethy lghbyosime is added 1o
ammoniacal Mi (11}, Which of the following
staternents s not rae ?

(1) Dimethylglyoxime functions as
bidentate ligan:

(2}  Red complex has 2 square planar
F_';I.‘HTI"IE‘TF‘.-'.

{3)  Complex has symmetrical
H - honding.

(4} Red complex has a tetrahedral

goomelry.
- 5 E_ti” |'
dimethylg! oo
T ORI = l
O e —CmN ¢
"oH |

An organic compound [(CaHgN} (A),
whep, reated with nitrous acid, gave an
aleohol and N; gas was evolved. (A} on
warming with CHCl, and caustic potash
gave (C} which nn reduction gave
isopropylmethvlamine.  Predict the
skructure of (A

(1) CHLCH,CH, - NH,
CH

Q) oy > CH-NH,
= 3

(3 CH,CH, — NH - CH,

(4) CHy- N “CHy
|

CHs

¥ 5 a - = " &
r information provided Here is for Referents.

17.

18,

W9 EEframEraEEEEd $ ArFiEfas
fereray w1 wrifaREE NG () T IHEn
# & w smd wra B ) P A sl
e T T B 7

srefus e T e e W

{1}
Wifq g FT E
(zy Ard BT et e Al e U k=L i A Tl
¥l
(3w  wEf -
(4} Wm?lmfﬂmm
. %':I
AHM
LOH
H.C—-C=
| msfTEEE T = S
| H,C- {.Gf‘«-

“OH

= i e (C,HN) (A), =1 78 158
2= ¥ m FrafE fem o A UE e
fm 3R N, fra frell | (A) =1 CHC, R
wifs T F wWe T R 9 (C) WE g

1 rufia F0 T amyEfgerafaf
() T ETT S WS i
(1) CHyCH,CHy—NH,

CHy ~,
4 'L—'_H NHE
(2 CH3
(3) CH,CH,~NH-CH,
(4) CHy= N —CH;

|
CH;,

It 'nay w

e el



19. Structure of a mixed oxide is cubic close -
packed (c.c.p}. The cubic unit cell of mixed
oxide is composed of oxide ioné. One
fourth of the tetr ralvoids are acoupied
by djvilent Adand the beta al)
voids are occupied by a fnonovalent metal
B. The formula of the oxide is :

(1) ABO, | g

(2} ABO, F ‘4
(3 - AgBO, L =g "7
(4 AR 0y 1 2 ,L/;j}i

20. The orbital angular momentum of a

P - electron is given as
g /\( -_!"[ 3*1};;-"";::
I.'_'-‘.' o T
Lt
& h rcFLL- :
W2
L
= b
3 3 —
(3~ =
& - ]E E
) "\Il ™
21,

B

11 R P TR T T

Four diatomic species are listed below,
ldentify the correct order in which the
bond order is increasing in them

=T < 0 <O A ¢
-.u:'—':'w -

(2). NOQ<0; < C3™< He}

s i +
(3] O <NO<C;™ < He, U—|,
{4} €3 < Hej< OF <NO ‘-‘I
e
G L S
g S
" b 8

i

197 -

e ST A L R el 2 i i

ll.-- S e
i =r B ANE

o L
'ﬁ?‘f .-ﬁ B
19. w97 si=mme #5690 w1 w95 (cop)

#1 faa swnE | oW iR A9 i
Al A g ¥ EmEe fem we W

e Stard wm GEEEE AT g
7 Fetga fa W vREdeE ug B
ot gn £ mmqstg

(L (2 ABO, & 86

g (3} AyBO, in_?i@]

L. ) AgB.O, W 6

-5 W€

ﬁp-sﬂ%ﬁﬂﬁzﬁkﬁ#’ﬂmﬁ

IEB.
mﬁmmt:
i e 3
(1) V6.~ ahe gl
21 -
B %4-.% T
h
@ B —%
w= . -
Ay e
R
L/ £

21. am fpromfes o o w3

wHl wE R IEEE Sty faad 8 g sy

Fe FumAgrEm . /ga/;;fa;fﬂ
(1) Hej <0; <NO< ¢

@ No<o;<cieng 10

3) 0; <NO< i< Hel

{4} €3« Hej < O] <NO

wer ke B s 7 e
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@ Which of the following compounds can be

- 2%

14,

[';C'.E.:I-}'."f".é information provided |

used as antifrecze
radiators 7

in automaobile

{1}  Ethy! aleohaol

By Methyl alrnM
i3 Glyeol

4) Nitropheno!

For real gases van der Waals equation is
written as

z
4l
o

v | (V-nb}=n RT

where ‘3" and 'b’ are van der Waals
conatants. -

Twao sets of gasps are

() O OB H, and He

(i) CH, O, and H,

The gases given in set-1 in increasing order
%ﬁﬂ-gasﬁ given in set-1Tin decreasing

r of ‘a’, are arranged below. Select

the correct order from the following :

(1} (1) Hy=Oy<He<COy (IT) O,>CH, >H,
(2) (1) He<Hy<CO,<0, (Il) CH>Hy>0,
(3] (D O,<He<H,<CO, () H>0,>CH,

« T Hy<He<0,<CO, (IT) CH0pH,

A certain gas takes three Hmes as long to
effuse out as helivm. Its melecular mass
will be -
{11 9u '_}% . J 4
@) 27w "

B u = vl

=4

4) Su

1

23,

3.

24,

At (T i) e afifen
W wn A s i A 8 Fh vge o
27
(11
(2)
(3)
i4)

ufiE e

e tewie

TEEIS

RLEERIE] -

arelas i F 79 &= 51 9w s =
Wt e = & '

2
4n

(V- nb}=n RT

w0 ‘2" ol b #% = A Fer E
AR

(O, COy H, 3R He

() CH, O, #T H,

-1 T E) o e vy ¥ awd g w o il
- A e S m e IR
safem fam a1 w0 @ Wl wm ow R
wifay ;

(1) (i) Hy20,<He<CO, (1) O CH,>H,
(2) (1) He<H,<CO,<0, (IT) CH,>H,>0,
(3) (1) Op<He<H,<CO, (I1) H,»0,>CH,

(4) (1) Hy<He=0,=C0y (1) CH205>H,

e e = oger Pt 8 F A
T wAE S Y,y S e 6

(1) 9u

() 27u

(3 3bu

4 #u :

.-.-.“.:-lfl"*u..-.lﬂrlwip N
. 3 T S

¥
L VLR B 1

= =
e -

1
N el B

It may wvary Origihal™

T e
D

T e .



25, Consider the following reaction

O
" The product ‘A’ is :
(1) CgHsCI
S8 CHCHO
\ﬁ;f’c;,,ﬁﬁm-[
{4)  CHCOCH,

~ O

26.  Which of the following reagents will be
able to distinguish between 1-butyne and
2butyne ?

(1) Br,
{2 NaNH,
‘ (3} HCl
) Ty Oy
27, Which of the following compounds will
give a vellow precipitate with iodine and
alkal ? =M
1) 2-Hyd el
- Hydronype :
- velromy propane LatHts
i) Acetophenone N,
T_zaj"'_r'w{n::tl“n'..'l aceiate &
. : eriqd = tHy
4)  Acetamide T L
pud L]
@ Chloroamphenicol is an
1
b BT antibiotic - broad spectrum
L]
E (2)  antifertility drug
3 andihistmine
L.{}]- antisephic and disinfecian
+
S P e e B e - s
MOTE: The information provided hers is

11

5.

26.

7.

28.

wwwW.recruitment.guru

E RPN

(1) CgHCl

(2} C4HSCHO
(3} CyHOH

{4} C4HiCOCH,

1-=EEa 3 2@prs § om w F el

ey wfvsmsi € & S Frg g 7
{1}  Bry

{2} NaNH,

3 Ha

4y Oy .
= it F 3 R s o bt %
me et 7 = wEs Ry

(1) 2 - i

(2} EREER

(3 Hferm itz

(4) HEEEs

i femtrta & -

(1) fwafes-am v

{2)  wiabr= gm

{3y whaffod

(4) gt 3 I

E ik B




29.

3.

3l
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Given the reaction between I gases
represented by A, and By to give the
compound ABg,.

Al{gj + '[1-1,;3-I =2 th.

At equilibrium, the concentration
of A,=3.0x 10-3 M

of B,=42%107" M

of AB=28x10"3 M

If the reaction takes place in a sealed vessel
at 527°C, then the value of K_ will be

45 _
kt:r‘z.u 1%%::1::1:
(3 1%

{4y 0.82

Low spin complex of d% — cation in an
octihedral field will have the fellowing

energy
P
!_,_I___ o

oo

-2
(1} 8+

j
la
-2
(4} ?Aﬁ*EP

(A, = Crystal Field Splitting Energy in an
octahedral field,
P= Electron pairing energy)

In the five-kingdom classification,
Chimmydomonas and Chlorella have been
included in :

(1] Monera
{2) Protista
{3) Algae

i# Plantae

12

29,

30.

1.

—g’lf; 14 I
=

a

Tidy e it

P !

Ao Tl By BT e =t ) el % A
ﬁqﬁmﬁrﬂﬁﬂmﬂlﬁﬁmm
Agg + By =2 ABgyy .
mﬂ_q,,.ﬁqwmaimaaﬁmm%:
Ay B AR =302 1074 M

Bgaﬁ WM =42x10"7 M

ABF WREM=28x107" M

i so7eC 1 sfutEe ok o am i B

K:'-E'ITTH!-LTTIT:

(1} 4.5

(2 240 s
(3 1.8 .
{4y 0.62 -

db - A § e eE B e S
e W el G R

(1) %a;l*
- 12

(2} —5 8+F
=12

{3 ‘-5—1';&+3P

{4) _—52a°+21= :

[au-mﬁﬂﬁﬁﬂﬁm i faares
T,

P= g i )

Tty et SelgEETe e

et few] wivf fa g 82

(1 T
(2} dfem
(@ feh
(4) ==
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33.

The information provided her

13

Identify the likely organisms (&}, (b}, {c) and
{d) in the food web shown below

= lion

o hawks
wle  [oses “"“I'i"" B iy
SN - o T
| 'I,I \"' rarden LY || l"|.
i el
1 W :Itﬁl.d H x\ | '|III
I.AJ b ""\ K ) \
mise (b} S’“" Spartoi
\‘\\ | / Tropper e
‘uqu\ctatmtl,."md:
Options :
[T @] o [w]w
111} squicrel cat rat  |pigeon
A2y deer rabhit frog rat
{3y dog |squirrel | bat | deer
!{4] rat dog  [tortoise| crow
A test cross is carried out to
i1y determine whether two species or
varieties will breed successfully.
: '.ng" determine the penolype of a plant at
Eq.
{3 predict whether two traits are
firked
(4] assess the number of alleles of a gene.

B

32, = feard @ @ W A (), (b), () A0

(o) FEuE w0 E § uee

e WA

)

¥ N
o

tb) () (d)

1}
JEJ
(3)

(4)

a3, wiend gwon fry fod fem wmn B

" e Fruifon w3 fow o 9 st @
gl BeeETEE T FO0 9 |

(1)

R = F, T W W P w1
¥ fam

(2)

qEEtem w03 & few fF o 3EW
{ P ) mwer € oo )

(3

14

Fadl wite & UEf W) e fauifm
0 % fau
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34. Read the following five staternents (A - E)

and answer as asked next to them.

\iﬁi In Equisetum the fermale gametophyte
is retained on the parent sporophyte

(B In Ginkgo male gametophyte is not
independent

e

The sporophyte in Riccin 15 more
developed than that in Polytrictinm

o (O} Sexual reproduction in Velvox is

ISOEAMOUS.
g

The spores of slime molds lack cell
walls,

How many of the above statements
are correct ? -

{1} Cme
2] Twe
ﬁ/ Three
(4) Four
35. Which ome of the follawing human ongans
is often called the “graveyard” of RBCs ?
(1) Liver
(2) Gall Bladder
(3)  Kidney
wAd4)  Spleen
36.

Which one of the following generally acts
as an antagonist 1o gibberellins ?

(1) [AA
(2) Zeatin
{3} Ethviene
i (4) ABA

MOT e information provided here is

14

for Raference.

34.

35,

36.

43 frd m e W (A - E) W uRe s
Jm =R T T #, T i

(A) FEEEY ¥, o gy A
A 2500 7 9 e R

famt o 77 gl = = @
(il = =i 3Eiae deieEey &
- 32 Ft geen o afiw fawt
i

(B}
()

(D) i i S o wEE
(4 ’

(E) =W Head F arama § iy fafa
T B
Fvia wuE F # Far i E

(1 U=

2 2 .

{3y #.

(4) W

fr=itafas % & 59 @ 0% 5 @ § TE
b R B e el IR = e
L8 ' g7

() =Fa (Fam)
{2} frerama

(3) F% (TR
(9) wte (Fret)

Frorfofem ¥ 1 @v % 71 75 § o fadthe

o it & w9 A w5
(1] [AA

(2y e

(3) et

(4] ABA

et e R T P

e w1 s T,
'

It mavy wary OFisiHEE et b,



HOTE :

I
37, Tebacco plants resistant t8 a nematode
have been developed by the intraduction
of DMNA that produced [in the host cells).
i {1} atoxic protein
4= o 42)  both sense and anti-sense RNA
il
* (3)  a particular hormone
{4) an antifeedant
~ 38 How many plants in the lisl given below
. - have marginal placentation ?
: o -
i Mu¥rard, G'[l'hmr Tulip, Aﬁp-'.fmguﬁ, .ﬂn%;r,
Sup hemp, Chilli, Colchicine, Onion,
© Mbang Pea, Tobecoo, Luﬁn
LY LZ 4
{1} Three
(I} Four
. @2}  Five
L s
39. For its activity, carboxypeptidase
requires
i1 Copper
(2) <Finc
(3 Tron
4} Niacin
40.  The second stage of hydrosere is ocoupied
by plants like
i By Vallisneria
i (2} Azolla
(3 Typha
41 Setix
T e LT - "

The information provided here is

37

38.

33

40.

B

TS & gaia- i 9l % = F DNA
wd¥ i T faed (et wifreed ¥
et Fema 99 dvs gan?

(1) T e i

(2) = 7 ufy- s S W T RNA
(3) v fafe= i

(@) uw e (wimim)

A €t o oHE d @ e del F |
HrAEE fE e ? '

1y
(2) =m
(3 g
4 B

e wmRfvitem & feo wwififais w9
fam = srevrED g 27

(1y
(2p R
@ m
(4y  frfem

TR ATEAT F1 gE R ¥ T T

& wwe B §, s
1y St

(2y e

(3) =

iy Hfy




41. Which one of the following structures is 41,

an crganelle within an organelle ?
b Mesosome

{2}  Riboseme

{3) Peroxisome

{4 ER

42.  In gobar gas, the maximum amourt is that | 42
of :

{1)  Carbon dioxide

(2) Butane
3 Methane
{4} Propane
43.
43.  The first clinical gene therapy was given
tor treating :
1} Adenosine deaminase deficiency
(2} _ Diabetes mellitus
(3)  Chicken pox
(4) Rheumatoid arthritis
44

44.  Which one of the following biomolecules
. is correctly characterised ?

(1)  Alapine amine acid - Contains
an amino group and an acidic group
anywhere in the molecule

(@ Lecithin - a phospherylated
glyceride found in cell membrane

(3} Palmitic acid - an unsaturated
fatty acid with 18 carbon atoms

{4  Adenylic acid - adenosine with a
¥
glucose phosphate malecule

| ey ——————

ST

it - P
ke .

Ly
e | - + —
[.;,:.—g.'j'“f.-: 1"|f:nr'rat_1:nn provided hera is for

freafefea § @ 57 & o= o st &
Wit ST w2

(1} e

{2y W

{3} TwETEE

4] ER

e e aqf-mwmmﬁﬂ'a‘nﬂi?
(1) =T Emstvms

(2 =g

(3) i -
{4y i

mmﬁaﬁﬁmﬁﬁmrmm
e R

(1) T it e

(2) TYiw
{3} SR O
(4) wEE nfEm

FreafefEn 4 2 fem ow dasm =% o

Ttz =t et 87

(1} TR U e - s i
e & e 377 it off v anty
HEE # £ 1 .

(2) wififes - = fir freet 8§ o = am

(3) Wffew st - o g 9w amm
ford 15 Tl S @ 8

(4) TEREEw am -t frwE oy
UF THE Wi S wm e B

i - T T TR

R

aference. It may wvary Dr_:u-uh_
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i 1 ? E
45, Green revolution in India oecurred | g5 s 8 g =ifa S Eg o ?
during .
" (1950 % weww
(1 1950
[ M (2] 196l F TEE o
1 i 1960°s .
I A {3 1970 % zors
k {31 1970
i (4) 1980 ¥ ToF ¥
[ (4% 1980°5
46, dTER | wEEE) T TE % TR
46,  Cusrwin is an example of (1} o e
: (1) Endoparasitism (2) =mA 7
L‘ ' A2} Ectoparasitism () W e
! 3 saait
{3)  Frood parasitism @ T
{4) Predation
; > 47. Frefafan s w99 (o-d) W fa=m Sifem
} 47, Consider the following four statements #R FEe wdl =/ weEl W o fawey
] ' (a-d} and select the option which includes T .
= 4 all the correct ones anly. N o
i Single cell Spiruli duc e il
. (a} ingle ce -Fllfrili g can pn?) u[.e Errfard stz B T i1 F FE W
large quantities of food rich in )
.. protein, minerals, vitanuns ele H 3FeA 1 HEN
f (b} Body weight-wise the microorgarism (b) ZF wm e A e fasemed
: Metfnlophilis methylotrephius mav be Hitererdmn ufafed T 52 A ==
fi able to produce several times mory wre w T T & e i a1 T E
oum proteins than the cows per day * ; )
i (¢ mEE s wwes (el faefe o
| - {c}  Common button mushrooms are a - S
! g wery #ich source of vitaemin C bt o I
i (dj= A rice variety has been developed (@) T ; = mit
' which is very rich it calcium Fererd Sifewam =ga v @)
| Options ; farsen -
I * oy H
Lo D0 Swatements (a), (B) (1) =9 (a), (o)
! (2)  Statements (), (d] (2) w9 (1) (d)
(3} Hatements (a), (o) and () (3] WU (g, () e ()
(4} Statements (bJ, {c) and {d) {4} LA (b), (e} it (d)
R pT——- N o 1V
i ?" ! .
_HIIL'TE!: The information provided here is




48,

49,

s information orovidaed |

wwwW.recruitment.guru

How many organisms in Lhe list given
below are autalrapls ?

Lactobacillus, Nn.:i';nr'.. C‘I:rﬁn, Nr'tn‘:?mm::ms.
NI'J'J‘{J!J&TEH.'F, Streptennyuys, H-ri{hﬂru|1r_|_,l.-_'|:_l-,
Trypangsome, Porphyra, Wu{ﬁn

(1) Three
(2)  Four
(3) Five
E} Six

Which one of the following categories of
anirnals, is corvectly described with no
single exception in it ?

(1) Al mammals are viviparous and
possess diaphragm for breathing

(2)  All reptiles possess scales, have a
three chambered heart and are cold
blooded {poikilothermal)

All bany fishes have four pairs of gills
and an operculum on each side.

(4} All sponges are marine and have
collared cells.

15

for Raference.

45,

49.

B NG gt § faw dle mddE e

e, At L TEckaEE
wEziezr, wlunfag ddvneim,

i1 =

(2] -m

(3) .
4 @

Frafolom § & miwd &) oy =55 ot o ot
# farit foem e oft aroame &, wet wvia fm
e '

() W w98 € qe o v
= F o we sTmem (s @m
E4|

(2y =i wiEd W wew @9 ¥ d e
e g § e 3 viwet (S
ik AR

(3) Wit wfters wterdt o wnodE e
A9 S R TH-TF TS v E

(@) e A R o e
ARt -

.

e 1 UmE m— e a7

= b %

It may wvary Original
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The four sketches (4, B, C and [} given
below, represent four different types of

animal tissues. Which one of these is

&0,

B

W fedt g Am i (A, B, CAM D) F, wW
TR W AT wa e § 0 7 4 R

correctly identified in the options given, T F A fad e fawed 9 1 Wl v
along with its correct location and T UH I T W R A e ot weE
functidn ? ) fed o €7
(A)
(8
()
{m
_1'1'5.::1.|c Location Tumnction
. Columnar Seeretim and
{p@] epithelivim Riephral ab=arption ]' i
s LEH
{il: E |
@) ] ;-pi-llaf;:llln:: Inrestine!  Secretion |
[ llonre] Attach skelatal | (21 (&)
H}'ﬁ iﬁb' En (Cartitage|  muscles to
r
' bones {3)|1C) |t vh| Tfen
g o T | iyt 3 T atd &
o e L Lk it
H}!JU} I'I':II:‘H I | Hisa contbraction A= ms A !E==
L e ) | i | J
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al.

Caiven below 14 the dingrammalic skelel
of a certain type of connective lissue.
Identify the parts labelled A, % C ard D,
and select the right option aboul e

Qptions :

Paft- C | Part - D
| Macra-
phage

Part-3

Collagen
fibres

|P'ar't-ﬂ

i Mast
cell

| Macro-

phage

Mast
cell

(1) Fibroblast

Collagen

21 fibres

Fibroblast Mast cell

Macro-
phage
Collagun

Coll
i3) Fibroblast| o

fibres

Mast cell

= TM
TV i Fibroblast
phage

fibires

52, Sacred groves are specially useful in :

‘__I;}j/ conserving rare and threatened

species

(2} generating environmental
awareness

(3 preventing soil erosion

(4} year-round flow of water in rivers

n

51.

4 fet 0 1 o st fom | v fafoe
T T HAE TR e v g oeed AL
B, C a8 D wnifeng s ==n-sm § 5 faws o
e fazey =i

W - A o - B

FIETHA

e e |

EaaE ke

|43

52, Ofas TvEe fadre e weed F godm

B2 :
Zely un dxarm wenfrdt 5 v
Tafeeg w21 e

(3) TR AEA ®

el f sd-mf= ot =1 T

{4)
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54.

C - Extension in the presence of heat
stable DNA polymerase

wWwWwW.recrulitment.guru

21

The figire below shows three steps {A,B.C)
. of Polymerase Chain Reaction {PCR).
Select the optlion giving correct
identification together with what it
represents 7

Region to be amplified
AT T T 4 DNA
S [ , ¢
TTTTTT I T[T
ALARRRERS N
oL IO,

l .
5. 3
C

[ Ci ¥
F—

"
Options :

;Hi/e’u - Annealing with two sets of
primers

i B - Denaturation at & temperature
of about 98°C separating the two
DNA, strands.

A - Denaturation at a temperature
of about SOPC

-

The,rate of formation of new organic
matter by rabbit in a grassland, is called -

(1) Gross primary productivity

(2} MNet productivity
mmndnry productivity
(4)  MNet primary productivity

53..

54,

i fad wm @ 3 § denm 4= e
(PCR) % #9 =m (A, B, C) femmd mg #i
frerfafan 4 feg o freen § w0
w1 freqm e Tesrn T R

; s firm = = A
A LT — T s DNA
: | 3
I v 1
LT i
T, — T
B £
c
¥ L}
o || — |

frmeg -

3

(1) A-vERd & 9 42 % o i

(2) B - 98°C & a W g

THEH 2 DNA T9F 79% 8 78
A.mmm'ﬁ;mmﬁaﬁ?

C - AT DA Tefteis ®it Itfy
% fammm

(3

(4)

et B vam W woi g e T i

T E TR o L
(1) == wwies s
(2) & IeeE

(3) Todie+ IeamsRar

(4) s mufrE eEEE
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56.

57.
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Which one of the following organisme is | g,
scientifically correctly named, correctly
. printed according to the International
Fules of Nomenclature and correctly
described 7
{1}y E.celi - Full name Entamoeba coli, a
commonly ocecurring bacterium in
human intestine
(2)  Musco domestica - The common
house lizard, a reptile
{.3’-']/ Plasmodivm folciparum - A protozoan
pathogen causing the most serious
type of malaria
{4)  Felis figris - The Indian tiger, well
protected in Gir forests. -
Which ane of the following represents a
palindromic sequence in DNA 7 56
p 5 - GATACC - 3
AT
¥ - CCTAAG - 5
Z - 3
M
¥ -CTTAAG - 5
{-?' 5« ?CAATG -3
- GAATCC - 57
3 - RE,?TTAC -3
4
- 3 - GATAAC - &
Vernalisation stimulates flowering in : 57.
{1} Ginger
{2) Zamikand
{3) Turmeric
{4} Carrot

guru

frerfafem 4 4 5 o W = it
TG, i AR s e & s
Tl W T ¥ Ay Farae W A of fe
T RE W R

{1}  E.coli - S0 918 Entamoeha coli, TFHE

srfgdl o ymrTs W TH A v
Rkl

Mugea domesticn - HAT ﬁﬁﬁﬂ'ﬂﬂﬂ
TF HY y
Plasmodium falciparum - Co-wdi=am
trrrr foed waie R w0
HEfm Em & Al
Felis tigres - oA =me, Ak sfmell §
e Wit gim

2

i3
(4}

Frafafen ¥ 4 foe o 4 DNa ¥ Om
Tereitarpe! s T T &7

1] 5 -GATACC-¥
3 - CCTAAG - 5
(2] 5 -GAATIC-¥
¥ - CTTAAG - §' b
3] 5 - CCAATG -3
3 - GAATCC-5'
(4] 5 -CATTAG-3'
3 - GATAAC - &
AE=RT G e fewd i fmd
{1} ITETH -
(2) wiER= "
(3)  wE
(4y TR
e e g R W
4 R e R
ol S e 0

It may wvary Originsil
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58, Which one of the following statements is
" correct with respect to immunity 7

(1}

Rejection of a kidney graft is the
function of B-lymphocytes

(2}, Preformed antibodies need to be
P-/ injected to treat the bite by a viper
anake

The information provided here is

! {31  The antibodies against small pox
' pathogen are produced by
T - lymphocytes
© 41 Antibodies are protein molecules,
_1 each of which has four light chains
L 59, Which one of the following sets of items in
o the options 1 - 4 are correctly categorised
: 5 with ane exception n it ?
b,
i I ITEMS CATEGORY | EXCEPFTION |
¢ - . I
i'ﬂ:!h.cld. .
i = {1} Poeumonia, ?HE:: | iYiphtheria
' b}
1 Diphtheria | e
. " = | |.
i oA UAA, DA 2
: %" i jﬂ‘ Ay Uit Stop codons UAG
2 4 UGA
i En |
i i Kangaroo, ;
Australian
i3) Koala, PR Wombak
| | Womba MRS
3 r ]
i Plasmailium, | Protecoan
= k (-‘.] Cnmenfe, ki C el
¥ \ ;
e L= Trypanesoma |
a3 L.
'l‘r“'h-ﬂ i

wWw.recruitment

58,

39,

«gQuru

yimE R H et i s m T
o WE R

e T W ST G BT
o EE

(1

T (HTE) WY F we ¥ IgEm d
- Fafita Rt (wfiED) = fi
ey = e B

{2

Faw e % ufa dEEEtE
(wfaidEl) =1 2mmea T - wreitemed &
Cica kAl

(3}

wfafiz (rrEm) dEm o iR §
Farsl el & AT W we! @ g
4

(#)

frefifan an fawedi(1-4) 9 & R &
famen o R8T 98 W), UF d9EE T 6
wet doit # TEn T i

L iy ETE
ERHRIEES,
(13| Fedfm, ey | fewedtfrm
Fereifim
UAA, UAG,
{2) UCA T w2 UAG
3 T
AT, TTEE | A W
| BEmET
4)|  FEEEL el
il
i
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B
60. Which one of the following pairs is
wrongly matched ?

{1} Mustard - Synergids

s Ginkge - Archegonta
(3y  Salvierin - rothalles
{4y Viroids - RNA
61. Which one of the following is 2 wrong
statement regarding mutations ¥

13 Change in a single base pair of DNA
does not cause mutation

(2] Deletion and insertion of base pairs
cause frame-shift mutations

(3) Cancer cells commonly  show
chromosomal aberrations

(4] UV and Gamma rays are mutagens

62. Read the [ellowing four statements

(A-T0:

(A) Both, photephosphorylation and

- oxidative phosphorylation involve
uphill transport of protons across the
membrane,

(B} In dicot stems, a new cambium
originates from cellz of pericycle at
the time of secondary growth.

() Stamens in flowers of Gloriose and
Petunia are polyandrous.

(D) Symbictic nitregen-fixers ocour in
free-living state also in soil

How many of the above statemenis are

\}1 i right ?
i |.1 3 Ome
. Twao
T {3)  Three
L. #) Four
f
o

MOTE :

Pl - i
The infarmation provided hera is

O T T S TR

24

for Raference.

Bil,

&1

62,

Fuefalimm o 5 w0 ww sty e fhena
TR

(1y  wwEl - AwrE i

2y faw- wihafE

(3)  AneatTw - Wi

(4) TAUIEH - RNA

T & was f Frafafes § € s w

U YA TR R T

(1} DNAF 5% uF & 39 92 ¥ ofteds
T H mfﬁ#ﬂ#ﬁﬂm%l :

() W W ¥ Faeive e Frm A R
En faree wefada dn §)

(3 F=m e § aemeE: s E
FeresTe g 2 A )

(43 UV a3 e R aiesde a6

ﬁnﬁmmmﬁ{a-n}'ﬁu@: _
() wilwTerifisten aq. sl fey

wieRilEtm, 2 3 wen i s dRE
AR AT B

(B) o = a2 i, s gl %
HUE T F wifrme ¥ W gl

(<) mﬁaﬂmﬂmﬁgﬁwtﬁnﬂﬂw
o EH ¥

[} Wmmwmﬂaiwﬁﬁﬂ?
saen F ot o wm §

FwE FAi | e e Tl 7

L} %F

2y @& -

@ @ '

(4) EW )

\‘*..n'. B W R w

- .--i..."...;
S

It may wvary Original
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]

1

{
PRI
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MOTE: The

J}}/ follicular phase and lasts for about

)
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Where do certain symbiotic
mucroerganisms normally ocour in human
body ?

(1)  Duodenam

AZ Caecum
(2} Cral lning and tongue surface
(4} Vermiform appendix and rectum

The secretory phase in the human
menstrial cyele is also called .

13 days

(2} luteal phase and lasts for about &

days

(3} follicular phase lasting for about & ll
days

(4}

luteal phase and lasts for abour 13
days

Biolistics (gene-gun) e suitable for

(1)

2y
31" Transformation of plant cells
4§

DNA finger printing

Disarming pathogen vectors

Constructing recombinant DA by
jointng with veclors

A Ea.Lt in glomerular filtration rate (GFR)
activates -

(1)  posterior

vasopressin

pituitary ' to release
: _LZ.}I-’"juxta glomerular cells o release renin
(3

adrenal cortex to release aldosterone

acd renal
adrenaline

medalla 1o release

B3,

G4,

bl

Reference. It may wary -C:-ri-;li_.[:nal*

IR YR T 5 i e et e
ik chch o

(1) s (gaigtm) &

(2) s (wEw) F

(3 I8 A F NER T Y w uae T
4y  FfEET T A weme

ara s - Ol s S wm e
I UE 4B AW i T owme & w9 s fed
Feit wes Tl £ 7

(1) T =, ' 13 o

(2y  Fefre g, g g fa oaw

(3 =F WA, = A s

4y itz e T e T ? %
Lo

AR (T e ) e o Tam

g7 -

{1} DNa fEr ST

(2y  TEE e = fafen wem

(3 g s w1 s

{4) Haww ¥ me drew gEhe DA

AL

UAE e o (GFR) W froee et w
o afmawon dm # 7

(1) wrm femed (dan) = ot o
A frae

(2) "= atEw w1 afs =@
i faet

(37 e FhE (aivge gege) mafe
Y aEEEE e

() gt g (sl ma) W e

Tad HEAe s

e L L TEE T

[
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(1) Thalassemia
(2} Phenylketonurin
(3}  Sickle cell anaemia

@ Haemophilia

Which one of the following cellular parts
is correctly described 7

(1)  Lysosomes - optimally active at a pH
of about 8.5

(2}  Thylaketds - flattened membranous
sacs  forming the grana of
chloroplasts

{3) Centriples - sites for active RMNA
gynthesis

4) ibosomes - those on chlotoplasts are

&7. Represented below is the inheritance | g7, 95t f23 =0 7% sifredts s i T |
pattern of a certain type of traits in

humans. Which one of the following
conditions could be an example of this
pattern 7

M T UE WE v F e () W
Fomfa sfaen znfm 0 1w =
frfefas € & s/ 6t ws 3w & 5 =
WiET T U LR 5 TR B

"'\-\.\__\_\_J-_‘_'_
{1y e s
(1) WEEEETEE

(3) =T W TR

(4) el

fefefans § & % 3 = Fifmwm v =
it =i e e 7

(1) ETEEE - B 8.5 pH W e
Lo

(2) wmsEEivEgR - A2 e &9 o wem
foera Feireme & i am §)

(3) dfedien (dRF Fw) - whEE RNA
HyEm & T

(4] TEAYHRS - SRS U R A A

larger {80s) while those in the (80s) % A ST W A0 A o1
cytoplasm are smaller {7s) {70s) % #a F|
e L i et e st L s uua,.“mqwrﬁw
o e : P R 4 B el

PR SRR
n g =|-n'a.?|4|_l'1.’ o
g -t .

LT |
iy .
1

ke G A L \ LR e | _ ; . ooty
= information provided Bere is for Beference. It mavy wvary Original
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i 69. Which one of the Ec_rﬂm_\ring optians gives I §9. Freafaies €4 fee ow foees 4§ 9 wftrd]
| the 5:5-::: fstfﬁfﬁa;ﬂ b itfﬂ::*::jﬁ w T - wER & el
1 r 3 5
wastes (A, B, C), they give out ? R S (A, B, C) F FIER _E-
: . = it o T R 7
A
t {AMMONOD s = | ;8 : € |
| reuc UREOTELIC | URICOTELIC sritPra sl | v sl | i o s
1 Agquate Cockroach, Frog, Migeon, | Haw
:1]| b : | T,
| | Amphibia Humans Lizards (13| ety gt | s, OEE !
! Agquatic | l
Pigeon, i Cockroach, l
J 2 Amghibia,
: Humans J Frog ey YrmtE,
i Lizards (2} FAM, T | iR,
' F el | Cockroach
| 3 Li:::':l' Amphibia, Plgeon H [ — i
3 | Mﬁm
| i Himans: | |{3]'ﬂ3.37, fawwleri| | e, T
e | el ™
: |~"Amphibia | Humans Cockroach -
) mmml TR, e e
i

70,  Which one of the [ollowing characteristics
i% common both in humans and adualt 70, frefetam # & =g 50 = o waw = wEE

f'”gs? e e Hew!, A F waE e d
| _/ﬂ{_!}reute]lc mode of excretion (1} oftm e fafa @

{2} Four - chambered heart 2y e T

i3} Internal fertilisation i (3 afiaiE fadee

i4) MNucleated RBCs (4} FEiEa W TR FfE
o S o

1 '
AL R
|||.. ' -

IOTREY The information provided hers is




71.

7I

Identify the human developmental stage
shown below as well as the related right
place of its occurrence in 3 normal
pregnant woman, and select the right
aption for the bwo together

Hignelapmunial Site of occurrence
5!152
L 8 - celled Starting point of
: l;g marula Fallopian tube
Aiddle part of
oy
(21 Late morula PaBopian e
End part of
Blastul
@ e Fallopian tube
{4)| Blastocyst Uterine wall

What is the function of germ pore ?
{1} Release of male gametes
{2)  Emergence of radicle

{3}  Abserption of water for seed
germination

{4) —Afitiation of polien tube

% For its action, nitrogenase requires :

.y Super oxygen radicals

(2) High input of energy
(3) Light

an“'

ided hers iz for

71. T T e e viEd e 5t weam
I HU TS AR e T e ey
H =g areen Wl ol A E g2 O W
g FFm v fawes F mt fom o #7

I W T
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() - fHg W
e} e & T
(23| " e
() e &
. B e wfm
{3} =g (FE )
e i
{4) | e (FEETE )| ol i

72, w-fiog = o we d
(1) ﬂwmmmﬁéﬂ:
(2) wEiET ® Free
(3) =i g T w s
(4) WO AfEET W WewA

73, wzifmdAa = few S5 ﬁ:{t{ 0 Frost
AT B

(1) o wfwdE e
{2y Fow T A

{3) wFEm ]
(4] Mnit -

© e T A

L5 {B
ET S i T

L N lee e
AT i By
@ ]

i -
e e La BT H
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74, In penetic engineering, the antibiotics are | 74,
used :
(1) tokeep the cultures frée of infection
. \../ﬂi' as selectable markers
(3] 1o select healthy vectors
(&} s sequences from where replication
starts
75. Through their effect on plant growth | 75.
. Tegulators, what do the temperature and
light control in the plants ?
{17 Fruit elongation
(2} Apical dominance
{3 Flowering
8y Closure of stomata
7h.
76, What is it that forms the basis of DNA
K Fingerprinting ?
- S
ﬂ}'"'éatuilite DMNA occurring as highly
repeated short DINA segments
{2)  The relative proportions of purines
and pyrimidines in DNA
(3) The relative difference in the DNA |
= occurrence in blood, skin and saliva
(4}  The relative amount of DNA in the
ridges and  grooves of the
ﬁng\erprints.

+ 'ﬂ- wwmy
AT
- sl

The information provided hers
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B
wryEfrs g o it = e
fevm oy forem wrm & 7
(1) wadl % Hawee-tm T )
{2y = Ty fesst % w9 )
(3) e HEwE g 9
(4) E wgEwl F v el @ ahefee

Ty B ¥

i g Frdat =1 wanfem e, arme am

werre) it F w0 frafom F €2
(1) i . Fhefare

(2y  FTEE wwfam

(3) T

@) iz dm

FE = A § N DA i = aem
Lok 4

(1) s DNA 9 =f TrElds 98 5y
o DNA @vE ¥ w9 3 i e wm
#

{2) DNa ¥ Hieg i s il &
T T

(3y T, w0 v v d faEmE oNA
AT o

e w4 w2l aun w4 DNA
1 s am=

(4)
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Select the correct
biodiversity :

slafement  abuul

{17 Conservation of biodiversity is just a
fad pursued by the developed
countries.

{Z) The desert aveas of Rajasthan and
Guijarat have a very high level of
desert animal species as well ag
MUMETous rare animals

{3} Large scale planting of Bt cotton has
no adverse effect on biodiversity,

(4)-"Western Ghals have a very high
degree of species richness and
endernism.

The domestic sewape in large cities :

(1} has very high amounts of suspernded
solids and dissolved salts

{2) has a high BOD as it contains bath
aerobic and anaerobic bacteria

(31" is processed by aerobic and then

MOTE:

anaerobic bacteria in the secondary
tregtment in Soewage Treatment
Planis (STPs)

(4} When treated in ST does not really
require the aeration step as the

SEWage contains adequate oxvgen.

77,

T8,

he information provided here is for Beference. It

Gatafasn & faua i [l Fam 3

(1} Fetataam = dogn fortan 23 w1
WA UF HIE B

() TR AT TR S W A5 0
Y qoi wiyE s oA } sl
e @ wra aw s fare Wi o
= E

(3] 1R E R s O T AR
7, dufafam o1 F1 Y T e

{4) ﬂﬂwﬁﬂmmﬁﬂa?ﬂsﬁﬂ
e AT T W o e e
el B

2 TE © e o

{1y  froifaa o oF 4@ T & =g
e e g

(2) # %% BOD ¥l § wiiT% v s
e araprETa @6 wER F i i
1]

(3) A, e A (1P T
= 1, ued @ AT ST am
qE SEE =T SETEE ASZi B
FET I A R

(4) W STPs ¥ Fwwim o T are o
werae 1 TatE Hiwd wE
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s S o e Fk i e e e e e ey i
. 2 ‘
n B
: %) IF’IJ::int_s with avaries having only dne or a 79, T e H o et F dEe T W T
=7 few u-vulles. are generally pollinated by - ¥ & F e T e T Wy
(1) . Wind forerds gro 2 2
U2 DBees (1) =g
(3} Butterflies 2y n!&‘nﬁ@'qi
: (4] Birds 3y famfeat
- _ (4 maft T
. i B0. Read the following four statements
' L 80, Frefafan o w4 - D) =) i -
T e o ettt |4y e g % st o
antigers, - Fer fiemen e =rfirw weitfer o e
. : LiER |
: y  Chikengunya is caused by a Gram b e A ¢
t “negative bacterium, (8)  Tasmin v mm- Fifem ot & 2m
! (E},.ﬂ'iﬁsue culture has proved useful tn Lo
" oblaining virus-free plants. (C) F7% dad arnE-thm 9 T w
(D) Beer is manufactured by distillation ¥ T fag gan &
fi juice 2 .
; of fermented grape juic () s ff ST @ F
1 How n';an_',-' of the above statements ape FraEe g T wm By
. Wrong
T _ TR Fe] H f s Tem § 7
b 2417 One
1) ©F
@ Tw n\/ [ )
@ @
(3)  Three
. (3) =
(4} Four
(4] m
B, .The supportive skeletal structpres in the ¥ 3 -
" human external ears and in the nose tip | 31- i & e ﬁﬂ’l' HHIT o & o=t
are examples of - e T W e s # 7
L cartilage (1) =ity
(2} ligament 2) wm
{31 areclar tissue (3) TETET FE
{4 hone 4y affey
S e g ke iy
r‘J'II'
:.U.TJE?}FT:F‘:E’.' information provided Hers is for Beference. It mav wvary Originailies
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As compared to a dicot root, @ monocat
root has

(1)
(2

Relatively thicker periderm
More abundant secondary xylem

J3 Many xylem bundles

Incenspicuous annual rings

(4

Which one of the following arganisms is
carrectly matched with its  three
characteristics 7

[ Maize : Oy pathwdy, Closud vascular
bundles, Scutelivm

{(2) TPea : C, pathway, Endospermic

seed, Vexillary aestivation

\@)/’Tumatn : Twisted aestivation, Axile
placentation, Berry

[ Onien @ Bulb, Tmbricate acstivation,
Axile placentation

Which ane af the following pairs of

chemical substances, is  correctly

categorised ?

1) Secretin  and  rhodopsin
Polypeptide hormones

{2y Caleitanin and thymosin - Thyroid
hormones

(3} Pepsinand prolactin - Two digestive

enzymes secreted in stomach

83

H.}"/Trnpuni.n and myosin - Complex
prateins in striated muscles

82,

54,

fgatarrat wer ¢ gEren o, wwer ge
=PI 97 E

{1y whengA T wrey
2y fedfrrE = =t s oI
(3} A T A .
{9y e A =T

Fretfetrg 1 @ fem ww @@ ® IS A

Frferanadl % Tm wA Foerme T f?

(1) m;csq’m"i-ﬁ’fﬁﬁ'ﬁ;:ﬁéfm

(23 na:cﬁwﬂﬁ, ot witen, AR

(3) auE : wETEta @ formra, WIS
Hrars—ums, =1

(4) T T, S T e,

Frofafos 4 8 frm o 92 % maEiE

werdl =1 T i fEm T R

(1) i A fEE - s B

) efemeifm aw wmmifes - 9T
{ srarzelt) W wndlA

(3] ﬁ*ﬁfmamﬁtﬂﬁmr.mmﬁﬁnia
£ A Sy A TR

(ay  Srdfm g SRl - A T
=4 A At WEe

e ...L-.-..-..q-"w ;:
R i) o s
' o

= v i:. i ’. ":E__‘-‘r .

. e i A e
i
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85. Identify th
e ¥ the molecules (a) and () shown ey S TEarf
below and select the right option giving il e ; bibnii
: their source and use, N T WA O ﬂiﬁﬂﬂ’ﬂﬁﬁm
] : T
/CH,
. N &
1 AHy
i Sl fﬂ
: ]
i T‘Q;L_, (2}
. H
e °
i
] !
[ ] l:'h} F GH
£Etil (5]
o
yita 1. i
Options ;
oty feree :
| I| Maolecule Source Use | L
H ; EMaﬁEﬁ
i (i h o Prpaver )
L:.'_:Ijl,_.--“ﬂ' “ﬁrphmk S-EIJ‘HHJ;I'E'H.'WJ E'Lﬂ pamn | am-l Iﬂ.ﬂ'“ mthr
] iller T
|Accelerates {13]- (o) afeTs e ity
{a) Cocsine | E¥Hhroxylum | e -
wea | rerspon S
of e &
doparmine | 2} {a)wrEg #
LT o
Mepressant b
(b} Hezoin Comabis and sbows e E I
: AafiTa down b‘}d}l’ | I T 7}!
) ! : e )
Functions @) mEm | el ey
l—-._ I
e ot &
(&) Cannabingid i H'
AmaRin belfadie haliugina- | |:4} ) Hﬁm Qg}w ﬁwmm
tions FET
t

MOTE: The information provided hers is
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86. Identify the meiotic stage in which the
homologous chromosomes separale while
the sister chromatids remam associated al
their centromeres :

JiE Anaphase 0
{2y Metaphase T

(3) Metaphase (I

M‘maphnﬁp |

87. ] Which one of the followimg statements 15
wrong ?

ﬁ]{ Intine is made up of dellulose and
pectl

hen pollen is shed at twao-g e
stage, double fertilization.does nat
lake place.

1 Vegerative cell is larger than
generative cell.

{4) ~Follen grains in some plants remain

viable for months, .(/

8%. The idea of mutations was brought forth

Ty :

1) Charles Darwin, who observed a
wide variety ol organisms during sea
vovagse

{g}//l-l/ugn do Vries, who worked on

EVETHTIE [ITIMT0se

: (3 Gregor Mendel, who worked on

Prapm sehiornm

(4) Hardy Weinberg, wha worked on
] ' allele frequencies in a population

RIS L R

MOTE: The 1"|f:u. mation

Hh,

87.

88.

ST M o o sy
provided here is for Reference. It may warwvy’

a8 HTA T AN spe e ¢ e weew
wrvim ([EE) TF g W yEE @ WA ¥
i fo i Wi ( snd-ToreE) ST T
Feia i (i) A qE WA ¥

(1) Tl
(2)  HAER ]
(3] TurEE i

(4) SR ]

Frferfiam § 379 @ UF 599 TEAL 7

(1) i Tegem au Tim = 9 g
i

(2) WA T - Fi e  wmm A
e - vy el :

ay =+ wafE, o wf @ afiw ad
et # |

(4) ww Tl § wm @ w-w TR AE
FEAaR w5

R (e # fammim F fE
g fmm w?

(17 e i, fawd 9w A
i il i ad fafav 2@ At

(2) TN EE, e g e
T i

(3 T e, fams wrEn SEEET TR
faa

(4) erE-dient, fesf e & Wi
HArarE W wE fwu )
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4 .89  Read the following four statements | g9 freiaig I HYA (A - D) %1 afay .
S ; :
s i ; ; (Al ITRFETR (aw) § oot
Ay In transcription, aderosine pairs
with wracil, e % T gt e
%\R%ﬂilahan oflac operon by repressor (8) = EHL fae HTH F frm
s referred to as positive regulation v Frrm e §
() The _hu:nlmquuggmme has (C) T S ¥ w50, 000 9 B )
approximately S0, pongy
b + (D¥F Haemophilia s a sex-linked recessive o) P e fEf-e i
b disease, L
How many of the above statements are I Fu F AT w mi E2
; ight ?
i = 1) ws
{17 Cine
r 2 %
: {21 Twe f
i 4T Three (3) AR
..« (4. Four (4) WX
90. Which one of the following pairs of | 90, et % A ffm uw 2 9 won 3k
animals are similar to each other ) Fdh vl e, ¥ faw F wwe e &
Fertaining to the feature staled against #3
them 7 ’
(1) Sea herse and Flying fish - Cold (1) el 9% @ w7 T - v s
_ blooded (poikilothermal) { arert ) Lo
e ﬂ/ Pleropus and Ormithorliyncus - (2} Eag Aot - weitayem
ety 3)  Tum faveet (froe) aw ormss
4 (4] Garden lizard and Cracodile - Three (3) : ; yo :
chambered heart it Fifta
5 ) Ascenis and Ancylostoma - Metameric [ g=kfm aa demeiei fawrst
) segmeniation HEET
. ; “ arlet¥
<91 Twe metallic spheres of radii 1 em and 91 1 em A3 an F % g ¥ @ i w5t
! 3 cm are given charges of —1x10~2 ¢ ; iy _2 iy
it and 5x10°2 respectively. I these are P TAXIDTTC WM X102 C
. connected by a conducting wire, the final fem o ¥ wfe, v um e @ g
1 chorge on the bigger sphere is fam = 4, 92 it e ST g i
. w - =
P pl-1x0m2 ¢ e 1) 1xi-2g ﬂ-ﬂ%w;
= {2) z=a0 2o ] 2wy e = x
! TS . et Q:-\JL an " 3 -
i ) sx10-2¢ AL 3x10-2¢ © )
& . e e f 2
i 4y 4=x10-%¢ e Ll 4y dx10-2¢ o
FR ™ T G_-lr &-’
! - SR (SR
i
| - -
Elﬁh;:ﬁ?h‘:e;ir:fﬂrmatiﬁn provided 'here is
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52, A proton carrying 1 MeV kinetic energy is | 92,

moving in a dircular path of radius B in
uniform magnetic field. what should be
the energy of an &3 pa rticte to describo &
cirel me radius in the sarme field 7

1) 4 MeV ﬁ\ji-_, it
(2) 2MeV M OO A

(3 Fﬁ %.F\%

4

1 WeV
05 MeV

A circular platform is mounted on a
frictionless vertical axle. Iis radius
R=1.m and its moment of inertia aboul
the axle is 200 kg m?. [t is initially at rest
A 50 kg man stands on the edge of the
platform and begins to walk along the
edge at the speed of 1ms ™! relative to the
ground. Time taken by the man 1o
complete one revolution is -

Ta

Bt e apt

':1" 5

e
3

® s [

{4 Ims

The ratio of amplitude of magnefic field Lo
the amplitude of electric [reld For an
electromagnetic wave propagating in
vacuum is equal o

(1) wnity

gpeed of light in vacuum
(3)
4

reciprocal of speed of light in vacuum

the ratio of magnetic permeability o
the electric susceptibility of vacuum

493,

foreft T = TR F 1 MeV ¥ o fael
T AT A iy F R fen & gonen T
= wfy =1 W ¥ ), fmdlt o - FO F A
fepaat ﬁ#ﬂﬁfﬁﬂﬂﬂﬂﬁaﬁthﬂi
i gy A T W '

(1 4 MeV

(2} 2MeV

3y 1 MeV

{4y 05 MeV

v geveT T T e IR g0 W

frar 81 ¥R ¥R T PR =2 m3 U
e wmEr 200 kg m? #1 wEu H 9%
Forerarea %1 50 kg BSEER T 1 w0
saﬁ%hﬂﬂwm%mﬁﬂﬂ-
it () 4T % A lms 1 F
3 e WY S E A, T e 5 T

T g0 WO O R R
o

 5s

(2] ws

o _:-I-_-..'_

'._-} -2 5

4y 2ws

94, fhﬂiﬂﬁﬁiﬁamﬁw:ﬁjﬂn_m?ﬁ

o, e en g 5 o SArTH] A S
g

1y =

(2) frafa 3y AT A

(3) Formfes 1 w1 5 7 % S F AU

¢ty Foat 3 g A (g
v S e (e ) 3 AT
T FET

i SRR S RN
il By !

ik . . s T e R,
 BEEo . ARk L

&

he information provided

mr
H
ilis
-
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95. A magmetic neadlpe suspended parallel o 95, e TR iy TN, Feat m
# magnetic field requires V3T of work 1 qf w goe g oy Ji] w5
o b nedi et | e o, . ¥ ¢ e
L T . f’ . mm%ﬁ:ﬁmmwa-m{ﬁ}
2 L ST WA g '
1 . E 11\"\'- s L
{1 2] i | i é}
‘b"‘} A 2
(2} 2731 LR
L5 (2} 243
(3 goF
fod (3 &y
B A | W 3y
A rod of length 10 cm ies along the 96, 10cm el v T 10 cm HiFw 3 &
Principal axis af 5 LONEAYE mirsor of focal F o o oy o
length 10 em i such a way that its e b . A B % e i
closer to the pele js 20 em away from the TR T T =% i Ty " 1 % T
mirror, The length of the image is ; T =y ﬂEDcm{l'tl &t ?ﬁﬁﬂﬂ
1) 5 em wean gt
2 10 cm _ (1) Sem
. (Z) 10 em
3 15
{g' o @ 3) 15cm
“ 25cm (4) 2.5 em
;'!w Mament ij:nﬂrtjﬂ of abu niform circy l,.':u' 97, frat uw wnm TR forss () Cok
15C s :I'nax:mum ADOUE an ax1s ﬁ x n -
- Perpendicular to the disc and Passing .,E #m T b
" through . T B 3 g ¥
/E:\ ey
B o2 | afed)
L/ | Rl
G i (1) A9 ey
b ) BE ¥
F N B — (2)
N (3) C# A
T b ] 4) DR drer
g R
L C
- It mawv -,"a:':v'- C-v_-i.;;:ll'l-?i'-—. -
':' ided herae is for Raference S = .
.-1;:|:—.E~ The information provide near
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B is

Which cne of the following plats | o8, faeeiten TR ( ameri) f =% W E, R
represents the variation of gravitational e ¥ B TN W & et T W
field on a particle with distance © due b i

: EET iy ¢ i e o T E7
thin spherical shell of radius R7? (ris ”qur g2 ¢ R H s
measured from the cenire of the spherical (¢ T AT TEER BT T R e TR 1
shell)

R Lrb- S %f:—F
.. .{\% . ) ii ]
Qg1 Y ' o ( j~

( !
r .

F
| . -
3 ) o ;

OR—=
' Fy ;
FII | .
" (4 | S .
() r @ GLR_.' f
& o
99. To get an output Y =1 in given cirguit | 99, ﬁﬂlmqﬁﬂﬂﬂﬁrﬁﬂ'ﬂﬂ‘f=lmﬂ?ﬁﬁ?
which of the following input will be mﬁﬁﬁmﬁﬁmﬁhﬂm@m
correct -
At
T
2 i R E"——'—Dﬂ-'
1 4 ]
B —t_'_,/r ’)—-—ﬂr' N _I—-l .
¢ TP 2 e T
A B C A BYC N B
0
f 1y o 1 0 13 (1p o 1
M 1 0 0 1 0 0
L/,@r’f 01 . @ 1 0 1
@ o1 1 0K @ 1 1 0
¥
|
[
|
{ U . ina b '.::H;::;J_’é‘;-'--'

LT el i ‘I_-I:-l-l.l..

]

~

may wvary Origi nal



10, A parallel plape fapaciter has a uniform
electric field E in

the space between the

i provided hera is
The information provided
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&, @ngﬁ .
R . gz L A
- 39 ¥ B
i .o 100, The equation of a simple harmonic wave | 100 fredt T @i m
iz given by ;
i
; =3 sin— (50— .
g,rej-sin%{ftﬂt-xj, Co &ln 1 [_’_ir -3 L) nnzl’ﬁ r—1) &
n, Mhere x and y ape in metres and ¢t iz in ﬁﬁ:myﬁ?{ﬁaﬁuﬁmﬁ?l , sl
'~ seconds. The ratio of maximum particle ) F-AT el A ST B
".-'E'Jlilﬂ:it_‘," o IHEW?E_@W =5 “)
’ SRR f{/{- (1) =Z= W=
2 wf = WY ]
(1) x % 1 : La
3 2 " Q) 2w L9 10
@ 2w i % x 3 Jg"/% = g Y
S neY il
Lo 2 3 _WoR i) 3w
L) 3 T
101, ﬁ:ﬁnwﬁz#mﬁaﬁ%%ﬁ%m

Eﬁmfﬂqa%ammlstl iz Hifiy

pPlates. If the distance between the plates 3 e ﬂ’_ﬁh 5l d & aw T
is d and area of each plate is 4, the energy 'ﬂémam‘r. ﬁmﬁﬂﬁﬂﬁfﬂm
stored in the capacitor jg - 9 _ e £ L L
i i Geft -
1) e EAd %%L‘-’ t= 1) e EAd e il
@ 1o T R oy e R
250 ‘.i.iﬁ_.d-— _L__E' L‘rﬂ_:‘ |:2.:| EEQE '{; - L“‘j
fa} E-EJ’sd.l"'E -!H_:_Q_JL P.!-i-_f; M r'.':r.'ﬂd,-'rl.:” @ﬁk‘ﬁ. o
x - iﬁ-"’" ;
\!y,« 3 £ EiAd "L A o~ {4) zigug‘z;m C\"‘L_ q’g—ﬁ-‘-
I <8 'iL
- 102 The power dissipated in the circuit shown - 3 77 ey
% " in the figure, atts. The value of g | 102 #RW F zofd my w50 e ¢
] b ‘ a‘h,naﬂmt: Y
e 'Y .
R R - &
.rir:jj; 5 [ e
FE&EL_‘.; 2 | W_____j v
B oRs s
-_..._||—.__,| ' -\.—\_“_ __._! L
10V 0y - Nt ":,JE
1) 300 -gip\ | (1) 00
@ 00 S ) w0 1o A
(3 150 (3) 150 =R T 3
e @ 1won TR
Seot [oor = (30
Lo & ~Ten
i
e W
s "-.' _."- ey f
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103, 10 o, s escape velocity and 1 i webital
wvelpeity of a sakellite for orbit close to the
earth's surface, then these are related by

T 0= 2%
{2
3
{4} v,= ﬁ?:

R
Ea= Jd Pe

Up= Uy

104. A stone is dropped from a height h. [t luts
the ground with a certain momentum P
If the same stone is dropped from 2 height
100% more than the previous height, the

momentum when it hits the ground will

change by -

(1} 100%

- (71 68%
(3 41

200%

105. An idesl gas goes from stale A Lo state B
wia three different processes as mdicated

in the F -V diagrarm :
A
1
IS
ki 3R
v—

B Qy, Oy Qy indicate the heat absorbed by
the gas along the three processes and
Ally, AU, AUy indicate the change in
internal energy along the three processes
respectively, then :
(1) Q»Q;>Q;and AU =AU,=AT,
|70y and Al = AL, =4,
{3)  Qy>Q,>Q; and AU, = AL, =AU,
{4) Q,=Q;=0Q, and AU, >AU,>AU,

i

] F“' ot
e IR e B e mar - it el i e e i -

- l“!;-'“ (LR

he information provided

40

Vo3, Ao e An A g TR R
i yfigam o Fal T & Fe an o, ¥
o, wrn wa T w

1) w=3v,
2y mwy= Jiv,
(3] wvy=w

o= fIn,

104, T TEr W h F=r A frrm s @) w
[’ﬂ*{;-ﬁﬁﬂmg,ﬁﬁwﬁ,ﬂ
Far @ 100% e O @ fagm Am @
-IL-'ﬁFrﬂ?:amﬁmwkﬁ:rﬁuﬁaﬁ? ’i
0 L.
{1) 100%
7y 68% "
(31 41% ;
(4 200%

105, FrETd T DV S A, U e

1 v fafvps waed’ g Toufa o & fofa B 7
= = R

t A ;
AN
W,

L

afz 9 # WAl H, R FEOEE:
Q. Q, 7 Q, i safer Fa A uftd
AU, AU, e AU, 3 7 -

1

pi—

v

AEEY

||

(1) Q2QuQ, 71 AU>AU8U; =

(2)  Q>Qy>Qy AW AU, =AU, =4U,
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The input resistance of a silicon transistor
is 100 1. Rase current is changed by
40 pA which results in a change in
collector current by 2 mA. This transistor
is used as 2 common emitter amplifier
with a load resistance of 4 KL The rmlmg:-
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